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cos (—#) = cos 6
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Domain: (—o0,%)
Range: [-1,1]
Period: 27
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Domain: (-,%)
Range: [-1,1]
Period: 27
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f(x)=tanx

Domain: ((A —I)/r,k;r)
Range: (—o0,~1]U[l,)
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f(x):csc.\*:%

Range: (—o0,-1]U[1,%)
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f(x)=secx= !
cosx

1
f(x)=cotx=—
tan x

Domain: [—l,l]

T
Range: [—E—,—;]

3

f(x) . sin”' x

f(x)=arcsinx

Domain; [-1,1]
Range: [0,7]

N

f(x)=cos'x

(
f(x)=arccosx

Domain: (—o0,0)

Range: [—”.”}

f(x)=tan &

f(x)=arctanx

Domain: (—o,—1]U[l,»)

f(x)=arcesex

Domain: (—o,~1]U[l,)

. 5 ”
Range: [0,7],y # 5

f(x)=sec'x

f(x)=arcsecx

Domain: (—w0,=)

Range: (0,7)

f(x)=cot'x

f(x)=arceotx
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y=rsinf
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) jx"dx=;c+l+c n#-1
(2) .' SIn X dx =—Ccosx+cC
(3) : cosxdx=sinx+c

(4) .' sec’ x dx =tan x+c

(5) .. csc’ x dx=—cotx+c
(6) : secx tan x dx =secx+c

(7) [ cscxcotx dr=—cscx+c
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